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X c =a-h,

i c, =-0.147,c, =-0.312,¢c, =-0.918,c, =-0.100,c, = -0.371,¢c, = 0.419,c, =0.257
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_C+C,+--+C,  —1.172
7

~-0.167,

e, —c| IRk Y, i =6
20. [&HEI (1) y=x+1

(2) HeMiA f(0)=1, TR,

(3) 141
e

CXD REPNEES Y RCPSE A iy c:F

(2) FiIFE 5 BRHoR BRI B, 0 7 75 B A

(3) ¥ A % A pl L 16 R 5 h(X) =€ —(a+1)x—b iy /s £ 4 p 3 1, 4k T 8 B2 T 45
b-a<l-(a+DIn(a+1), Mtk F(x)=1-xInx(x>0) H:RHHm AT H b —a 1A .
CNREE D

Ya=0n, f(x):ex+%x2,f’(x)=ex+x, f(0)=1f'(0)=

Epizk y = f () 724(0, F(0)) dbfbnsk iy fny y = x+1,
[/ 2 VAR ]

a =16}, f(x)=ex—x+%x2, nfr(x)=e*-1+x;

4g()="f'(x)=e"~1+x, Wg'(x)=e"+1>0, BIg(X){ER ik
N5 T0)=0, giiYx<om, f'()<f'(0)=0, Hx>o0m, f'(x)>0;
Bpeg g f (X) 76 (—o0,0) Eapipasm, 75 (0,+00) I e ifidiy,
ez f(X) mameMiA £(0)=1, TEmkqH.
(@NEIRRES |
f@Qz%x?+x+bw$xeFv@mﬁ;Iﬂﬁeﬂ{a+nx-b20@xeR¢@ﬁj
4h(x)=e*—(a+1)x—b, Mh(x)=e*=(a+l), Xa>-1,
mh'(x) =e* —(a+1)=0mfgss x=In(a+1),
s x<In(@+1)rF, hx)<0, ¥x>In(a+1)wt, h'(x)>0;
Fied h(X) 76 (=00, In(@a+1)) E s imssmk, 7E(In(@+1),+e0) ki,
Lk h(X) 76 X = In(a +1) 4b B Ak /M E

th 2 M h(In(a+1))=e"* —(a+1)In(a+1)-b=(a+1)—(a+1)In(a+1)-b;

san(a+1l)—(a+1)In(a+1)-b>0, prunfEb-a<l-(a+1)In(a+l),
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A F(X)=1-xInx(x>0), mF'(x)=—Inx-1,

LH:‘é'IO<X<1Elﬂ‘, F'(x)>0; §’|x>lﬂq‘, F'(x)<0,
e (S
T EA F(X)E(O,%) bR, E(%,"‘Ooj b BT 3 O

€ e

B F(x)max = F(E) =1+
e

Eﬁzb—aE‘J%ﬂEﬂyu%.

A Y i i AR L 8, — R0 T S e Ak (975 % i 4 34 o 8R4 R e s S0k

PO TR, PR 0 2 R A B T4 o 4

21. (&%) (D s(A*A)=3, s(A*B)=1

(2) WAEHT  (3) DLfEAT

(o3 ) (1D MRIEES] A*B HIE X r7kh A*A, A*B, BIF[{3HZ %,

(2) iCF A*B: C,C,o,C, ¥BI(A*B)*A: dy,d,,-o-,d,, sva, =1F1a, =0 pifidEatitie, A
M 45 tH 4518

(3) 73 N A HEE MG OIS, R E Lairiaf, Nmarf5Haie.

NTREER D

fii: BIA¥HA4: 1, 0, 1, B: 0, 1, 1,

el A*A: L1, %%/ A*B: 0,01,

el S(A'A)=3, S(AB)=1;

[/ 2 37 ]

WEWT: XEFRA 0-1 55 4: &,a,,0a, fiB: by,b,,-- b,
L A*B: C,Cy,Cy s TG (k=12,-2,n),

#a, =1, mWkit|a —b|=1-b,c, =1-[a, —b|=b,;
#a =0, mtrt|a, —b|=b.c, =1-|a, =b|=1-b,,
HOH T A (A*B)* A dy,d,, o d, . i d B (k=12,,n):
¥ia, =1, md, =c =h;

#a, =0, Nd =1-c =1-(1-b,)=h,,

ALl (A*B)* A 5B L [H— 441,

bl S((A*B)*A)=5(B),

(/0 3 %]
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f: 5N RAH, WAL LN TR 0-1 58 4, B, C, WEHIWIT:
#F 3 AN 0-1 $51 4, B, C,

X =3-|a -b|-|o,—¢|-|c,—a].(i=012,--,n),

M S(A*B)+S(A*C)+S(B*C) =X +X, +--+X,,

Y =h =cuf, x =3-|]a-b|-|b-c|-|c,-a|=3,

Ma, b, ¢ i ARRE T IR, X =3-[a -b|-[o —¢|-|c —a|=1,

BT LA X, S 7540
MS(A*B)+S(A*C)+S(B*C)=x +X,+-+ X AFHA AR LM, TAZ%, ATThER 2n s
20, wn=2k(keN,),

n™ 4 T "
seasgon e v E L o avc, re . mpp 0000 L
n Z -

el S(A*B)+S(A*C)+S(B*C)=n+k+k=2n,

g bk, 4N A%, S(A*B)+S(A*C)+S(B*C) AN 2n,

N ONFEFRN, ATTRE T

LA AR E T ROIHE L, %8 T SR RS RS, R AL T X U BEAR,
RE I FE.
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